
#4A Permanent System Box Contents 1 Box Total 

Product # 309   

Component                                         Quantity   Replacement # 

Frames 2 #531 

3” Hubs  2 #543 

#4 Hardware Bag 
Contains: (2) 5/16’’ x 1’’ Bolts, (2) 5/16’’ Washers, (4) 

Drop In Anchors, (4) 3/8’’ Washers, (4) 3/8’’x1’’ Bolts, 

(12) Self Tap Screws, (2) Plastic Washers, (2) Bushings, 

(10) Female Grommets, (10) Male Grommets, (22’) of 

Strap and (1) White Knob 

1  

 

#565 

Small Handle 1 #545 

#4 Instructions & Warranty 1  

Box Dimensions:                    17’’x12’’x6’’  

Box Weight:            9 pounds 

 


